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Ch 1 Multiple Choice - Review
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1.

Which of the following functions are continuous for all real numbers x ?

2

I y= X3

I y=¢
Y. y=tanx

(A) None (B) Ionly (C) Ionly Iandl] (E) TandIIl



. St 4827 &
-0 3x* — 167

@ (B) 0 (O) 1 (D) §+l (E) nonexistent



Graph of f

. The figure above shows the graph of a function f with domain 0 € x € 4. Which of the
following statements are true?

Z- L .h_fnf(x) exists. |/
IL. }gpf(x) exists. \/

I]l.lliilgf(x)exists.
(A)Tonly (B)Honly [ (C)IagdIlonly (D)Iand Mlonly (E) L 1I, and I



4.

- 4::2

> 15
n—=x n* +10,000n

1

(A) 0 (B) > 500

2

n

ﬁl+ JDDOD N

() 1 (D) 4 (E) nonexistent




6.
lim (xcscx) is
x—0

(A) -—= (B) -1

/{m YESEN =

Y30

(C) 0

hm
D

(D)

snx

1

(E)



8.

g _Jl\'+5-J.\'+7
If .f(-‘)— P
f2)=k
1
(A) O (B) P

, for

xX#2,

and if f is continuous at x =2, then k =

- (D)

1

(E)

w2



: y = hix)
| /.\1 /

| /-3 O}/ 23 6 X
r -3
Y

On the interval —-0.5<x<2.5, the IVT guarantees a value
—0.5< j <2.5 such that A( /) =1, Whatis j?

(A)0 (B)1 @ (D)3 (E) the IVT does not apply




10.

The line y =-7 is a horizontal asymptote to the graph of which of the following functions?




1.

lim
x—6 x(x—6

1-Vx-5

5

-

|
(A) =3

1
(B) BT

1
(C) >

| 1
(D) T (E) “%



15.
A function f'(x) is continuous for all x. The function satisfies

£()=10, £(2)=3, f(3)=-5, and /(4)=-1§

The IVT that the equation 1)
(AYT (x)= 8.6753;.9} a solution for some x €(1,2). Qle T \

(B) f(x)=8.675309 has a solution for some x€(2,3). < \\
(C) f(x)=8.675309 has a solution for some x € (3,4). il '5_ ~—
(D) f(x)=8.675309 has a solution for some x with x <-18. \.

(E) It cannot be determined from the information whether f(x)=8.673309 hqe a solution.

"\



